

Vetted Security Solutions LLC

621 Monte Cristo Blvd
St. Petersburg, FL 33715
(901)545-9825
rbarnett@vettedsolution.com
vettedsolution.com



ESTIMATE

ADDRESS

City of Wellington

ESTIMATE # 1171

DATE 07/19/2018

ACTIVITY	QTY	RATE	AMOUNT
Vigilant ALPR:Fixed ALPR Dual Camera Enclosure Fixed LPR Enclosure Package w/ 2 Cameras) Software: <ul style="list-style-type: none"> • CarDetector LPR server software for up to 35 points of capture • LPR software is compatible with Vigilant's nationally hosted LEARN LPR data server • Centralized web based LPR system and data management • Full suite of LPR tools including data analytics Hardware: <ul style="list-style-type: none"> • Qty2 Combination IR / Color Reaper LPR Camera - 75mm lens package • Includes RAM mounting bracket • NTSC video format • Solid state digital signal processor unit - No moving parts • Wiring harness w/ single point power connection • DOT Certified LPR Enclosure • 120v surge protector w/ fault sensor • 10A 12vdc Power Supply • 6 Port Industrial Switch • Router / Modem Combo • Remote Monitoring Hardware • Industrial Micro PC w/ i5 processor, Windows 10 Pro license, 8GB Ram, 128GB SSD • Interior mounted fan for air circulation inside enclosure • Interior Temperature sensor • All necessary mounting brackets for LPR enclosure pole mount on standard pole 	6	20,950.00	125,700.00
Vigilant ALPR:Fixed ALPR Three Camera Enclosure Fixed LPR Enclosure Package w/ 3 Cameras) Software: <ul style="list-style-type: none"> • CarDetector LPR server software for up to 35 	6	28,950.00	173,700.00

ACTIVITY	QTY	RATE	AMOUNT
<ul style="list-style-type: none"> points of capture • LPR software is compatible with Vigilant's nationally hosted LEARN LPR data server • Centralized web based LPR system and data management • Full suite of LPR tools including data analytics Hardware: • Qty3 Combination IR / Color Reaper LPR Camera - 75mm lens package • 'Includes RAM mounting bracket • NTSC video format • Solid state digital signal processor unit - No moving parts • Wiring harness w/ single point power connection • DOT Certified LPR Enclosure • 120v surge protector w/ fault sensor • 10A 12vdc Power Supply • 6 Port Industrial Switch • Router / Modem Combo • Remote Monitoring Hardware • Industrial Micro PC w/ i5 processor, Windows 10 Pro license, 8GB Ram, 128GB SSD • Interior mounted fan for air circulation inside enclosure • Interior Temperature sensor• • All necessary mounting brackets for LPR enclosure pole mount on standard pole 			
<p>Vigilant ALPR:Fixed ALPR Single Camera Enclosure</p>	1	12,950.00	12,950.00
<p>Fixed LPR Enclosure Package w/ 1 Cameras)</p> <p>Software:</p> <ul style="list-style-type: none"> • CarDetector LPR server software for up to 35 points of capture • LPR software is compatible with Vigilant's nationally hosted LEARN LPR data server • Centralized web based LPR system and data management • Full suite of LPR tools including data analytics Hardware: • Qty1 Combination IR / Color Reaper LPR Camera - 75mm lens package • 'Includes RAM mounting bracket • NTSC video format • Solid state digital signal processor unit - No moving parts • Wiring harness w/ single point power connection • LPR Enclosure Box • 120v surge protector • 10A 12vdc Power Supply • 6 Port Industrial Switch • Router / Modem Combo • Remote Monitoring Hardware • Industrial Micro PC w/ i5 processor, Windows 10 Pro license, 8GB Ram, 128GB SSD • Interior mounted fan for air circulation inside enclosure 			

ACTIVITY	QTY	RATE	AMOUNT
<ul style="list-style-type: none"> • Interior Temperature sensor • All necessary mounting brackets for LPR enclosure pole mount on standard pole 			
Vigilant ALPR:Vigilant CLK Fees:CLK Tier 3 VS-BSCSVC-03 Vigilant LPR Basic Service Package for Hosted/Managed LPR Deployments <ul style="list-style-type: none"> • Managed/hosted server account services by Vigilant <ul style="list-style-type: none"> o Includes access to all LEARN and CarDetector software updates • Requires new/existing Enterprise Service Agreement (ESA) • Priced for 1 Cameras per year 	31	400.00	12,400.00
Vigilant ALPR:Pole Mount Kit - LPR camera Camera Mounting Accessories <ul style="list-style-type: none"> • Made for heavy weighted LPR cameras or high impact applications • Pole Mount Kit • One required per camera 	31	195.00	6,045.00
Vigilant ALPR:Vigilant Installation Services:Fixed ALPR Installation Installation of ALPR Enclosure <ul style="list-style-type: none"> • Included Mounting of Camera Arms / Enclosure • Includes tapping of existing power / fiber necessary for local power / connectivity (assumes power / connectivity is already at base of pole) 	13	500.00	6,500.00
Travel and Expenses:Travel and Expenses Travel and Expenses	1	2,500.00	2,500.00
Marshalling Cost Marshaling Cost / Lift Usage	1	1,500.00	1,500.00
Vigilant ALPR:Vigilant Shipping:Vigilant Shipping Fixed ALPR (1) VSH-STNRD Vigilant Shipping & Handling Charges <ul style="list-style-type: none"> • Applies to each Fixed LPR System • Shipping Method is FOB Destination 	31	95.00	2,945.00
Misc Jobsite Components:Misc Installation Misc. Installation Services - -Striblind Way at Lift-StationWork Scope;Trench from subpanel in pump station to road approximately 250' Supply and install electrical conduit from panel to pole. Supply and Install one (1) 20amp breaker in panelboard. Supply and Install one (1) 12' AG Fluted pole.	1	2,696.93	2,696.93
Misc Jobsite Components:Misc Installation Misc. Installation Services - Median Pole Direct bore from center median to south side of road approx 60' Supply and Install hand hole at bore termination. Trench approx 90' to existing electrical panel behind Wellington sign.	1	3,611.00	3,611.00

ACTIVITY	QTY	RATE	AMOUNT
Supply and Install electrical conduit from hand hole to panel Supply and Install one (1) 20amp breaker Supply and Install approx 150' x3 legs of #12 wire.			
Misc Jobsite Components: Misc Installation	1	3,529.00	3,529.00
Misc. Installation Services - -Binks Forest & State Rd 80- Work scope; Remove existing wiring from contactor and wire direct to breaker. Remove small disconnect on east side of road. Supply and Install 8 circuit Nema 3r panel. Supply and Install new photocell to control existing lighting for sign. Trench new line on east side aprox 180' Trench new line on west side aprox 90'			

EC #13007778

TOTAL

\$354,076.93

Accepted By

Accepted Date